

6.14 1)

$$\alpha) \lim_{x \rightarrow 0^+} \frac{3-5\sin^2 x}{\eta\mu x} = \lim_{x \rightarrow 0^+} (3-5\sin^2 x) \cdot \lim_{x \rightarrow 0^+} \frac{1}{\eta\mu x} = (3-5 \cdot 1)(+\infty) = -2 \cdot (+\infty) = \boxed{-\infty}$$

$$\beta) \lim_{x \rightarrow \frac{\pi}{2}} \frac{2\sigma\phi x - \eta\mu x}{1 - \eta\mu x} = \lim_{x \rightarrow \frac{\pi}{2}} (2\sigma\phi x - \eta\mu x) \cdot \lim_{x \rightarrow \frac{\pi}{2}} \frac{1}{1 - \eta\mu x} = (2 \cdot 0 - 1) \cdot (+\infty) = -1 \cdot (+\infty) = \boxed{-\infty}$$

6.14 2)

$$\lim_{x \rightarrow 0} \frac{\eta\mu x - 2}{\sigma\upsilon\nu x - 1} = \lim_{x \rightarrow 0} (\eta\mu x - 2) \cdot \lim_{x \rightarrow 0} \frac{1}{\sigma\upsilon\nu x - 1} = (0 - 2)(-\infty) = \boxed{+\infty}$$

6.14 3)

$$\lim_{x \rightarrow 0^-} \frac{3\eta\mu^2 x - 5\sigma\upsilon\nu x}{\eta\mu x} = \lim_{x \rightarrow 0^-} (3\eta\mu^2 x - 5\sigma\upsilon\nu x) \cdot \lim_{x \rightarrow 0^-} \frac{1}{\eta\mu x} = (3 \cdot 0^2 - 5 \cdot 1) \cdot (-\infty) = -5 \cdot (-\infty) = \boxed{+\infty}$$

6.14 4)

$$\lim_{x \rightarrow \frac{\pi}{2}} \frac{\sigma\upsilon\nu x - 1}{2\eta\mu x - 2} = \lim_{x \rightarrow \frac{\pi}{2}} \frac{\sigma\upsilon\nu x - 1}{2(\eta\mu x - 1)} = \lim_{x \rightarrow \frac{\pi}{2}} \frac{\sigma\upsilon\nu x - 1}{2} \cdot \lim_{x \rightarrow \frac{\pi}{2}} \frac{1}{\eta\mu x - 1} \stackrel{\eta\mu x - 1 \leq 0}{=} \frac{0 - 1}{2} \cdot (-\infty) = \boxed{+\infty}$$

6.14 5)

$$\lim_{x \rightarrow 0} \frac{\epsilon\phi x - 5}{1 - \sigma\upsilon\nu x} = \lim_{x \rightarrow 0} (\epsilon\phi x - 5) \cdot \lim_{x \rightarrow 0} \frac{1}{1 - \sigma\upsilon\nu x} = -5 \cdot (+\infty) = \boxed{-\infty}$$

6.14 6)

$$\lim_{x \rightarrow \pi} \frac{4\epsilon\phi x + 1}{1 + \sigma\upsilon\nu x} = \lim_{x \rightarrow \pi} (4\epsilon\phi x + 1) \cdot \lim_{x \rightarrow \pi} \frac{1}{1 + \sigma\upsilon\nu x} = (4 \cdot 0 + 1) \cdot (+\infty) = \boxed{+\infty}$$

6.14 7)

$$\lim_{x \rightarrow \frac{3\pi}{2}} \frac{4\sigma\phi x - \eta\mu x}{1 + \eta\mu x} = \lim_{x \rightarrow \frac{3\pi}{2}} (4\sigma\phi x - \eta\mu x) \cdot \lim_{x \rightarrow \frac{3\pi}{2}} \frac{1}{1 + \eta\mu x} = (4 \cdot 0 - (-1)) \cdot (+\infty) = \boxed{+\infty}$$